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Calculations from Chemical Equations: Worksheet 2

1) Ammonia (2g) reacts with oxygen (3g) giving nitrogen and water. How much of each is produced? 
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2) Chloropropane (C3H5Cl; 6g) reacts with oxygen (1.5g). How much of each product will you obtain? 
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3) Ammonium nitrate (3g) decomposes and gives laughing gas (N2O) and water. How much of each is produced? 
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4) Potassium bromate (KBrO3; 2g) reacts with 1.3g of potassium bromide and 1g of sulfuric acid. How much of each product will you get? 
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5) Copper (3.7g) reacts with 2.7 g of nitric acid. How much of each product will you get? 
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6) Carbon dioxide and lime (CaO) are industrially produced by heating limestone (calcium carbonate) to high temperature. How much of lime and carbon dioxide will you obtain from 15 lb of calcium carbonate
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7) Chlorine can be produced in the lab by reaction of potassium permanganate (KmnO4) with HCl. How much of each product will you get by reacting 1.2g potassium permanganate with 2.5g of HCl? 
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8) What is the formula mass of CaCl2?

9) What is the molar mass of CuSO4? 

10) How many molecules there are in 0.34 moles of NaCl?

11) How many molecules there are in 100g of BaCO3?

12) What is the mass of 2.2*1022 molecules of MgCl2?

13) How many molecules are in 15g of C2H6O? 
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